AN  ROINN  OIDFEACHAIS M.46
INTERMEDIATE ~ CERTIFICATE  EXAMINATION. 1974

MATHEMATICS -~ LOWER COURSE - PAPER 11
(150 marks)

TUESDAY, 18 JUNE - MORNING, 9.30 to 12

SIX questions to be answered.
All questions are of equal value.
Mathematics tables may be obtained from the Superintendent.

1. Find the simple interest on £800 for 3 years at 9% per annum.
If £800 together with simple interest for 3 years amounted to £944, find the rate
per cent simple interest being paid.

2. (a) Simplify 963 X 3-28 = +/0°527 and give your answer correct to 3 significant figures,

(b) A sum of £540 is divided between 3 people A, B and C in the ratio of 2 : 3 : 4.
How much does each receive ?

(c) Find the value of (3 X 10%) X (1:5 X 100 + (9 X 10°).

3. (a) Complete each of the following:

(i) fL 23 £l 5 6 =
(ii) {3, S5k [6, 8} =
(iii) b0 TEN 093 =
(iv) {3, 4, 7. 5} ({4, 7}X {5, 3}) =
(b) Of 250 pupils, 166 collect coins, 135 collect stamps and 55 collect both coins and stamps.

How many collect (i) coins only: (ii) stamps only; (iii) neither coins nor stamps.
Use a Venn diagram to illustrate your answer.

4. (a) Find the factors of each of the following:
(i) ac — ad + bc - bd,
(i) S e s ¢
(iii) OxE o J5y2.
(b) Find the solution set of each of the following:
(i) {x|5x — 7< 23, xeN}
(i) {x|5 —2x>=-1,xeN}

5. A woman buys a number of apples @ 6p each and a number of oranges @ 8p each at a total
cost of £3-04. If she had bought twice as many apples and only half the number of oranges, she
would have paid 64p more.

How many (i) apples, (i) oranges did she buy ?

6. (a) (i) Express the denary number 73 in binary notation.
(ii) Express the binary number 11001 in denary notation.
(b) x is a number between 2 and 3 and y is a number ! : e o - -

between 4 and 5, as in diagram.  Say whether each 0 q 2 i) 4 i
of the following statements is true or false:
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